Kod Erdemjegy ZH_1 PZH_1 PPZH_1 ZH_2 PZH_2 PPZH_2 Labor
Pont|jegy| Pont |jegy] Pont |jegy|Pont|jegy| Pont|jegy| Pont |jegy
AFMGWT kozepes 245| 3 26 | 3 +
AI18WM elégséges 175 2 16 1 1175 2 +
AIOS8CT elégtelen 145 1 25 3 13 | 1 0 1 14 1 +
AY9ZX8 elégséges 13 1 20 2 23 | 3 +
BPSYNJ elégséges 20 2 20 2 +
BUF96P elégtelen 12 1 16 1 1125] 1 20 2 +
BV192] | Nem teljesitette +
COGMH2 elégtelen 13 1 [165] 1 +
C1GE67 elégséges 225| 3 7 1 13 1 18 2 +
C1RX82 kdzepes 24 | 3 151 1 1255] 3 +
C3580U elégséges 21 2 20 | 2 +
CcozyYu?2 jo 225| 3 131 11165 1 34 5 +
CH5CEV elégséges 19 | 2 24 | 3 +
CW6Q8M| elégtelen 11 1 13 1 16 1 +
DG9QIP kozepes 13 1 28 4 26 3 +
DIJKGN kozepes 28 | 4 19 | 2 +
DOWMIF kdzepes 25 | 3 13 | 1 13 1 27 3 +
E1SXYV elégséges 25| 1 17.5 2 |175] 2 +
E23IPY elégtelen 75| 1 [125] 1 13.5] 1 14 1 +
E65WCG6 | Nem teljesitette | 25 | 3 9 1 0 1 -
EAX3VX | Nem teljesitette +
EK2AUE elégtelen 29 | 4 95| 1 [ 135] 1 +
ELPNBW elégséges 26 3 175 2 +
EMOBUC elégséges 18 | 2 175 2 +
EOLURG elégtelen 14 [ 11651 +
F6YS8HB elégtelen 10 1 [185] 2 4 1 +
FB6ULZ elégtelen 15 1 26 3 7 1 +
FE2Y2T elégséges 24 | 3 18 | 2 +
FSAUBP elégséges 20 | 2 17.5 +
G4RLIX elégtelen 19 | 2 15 1 +
G55IRI elégtelen 26 | 3 +
HDIWTU elégséges 15.5] 1 23 3 20.5| 2 +
HE2PXD elégtelen 18 | 2 +
HHLFLQ kozepes 2451 3 23 3 +
HM1K94 kozepes 255| 3 15 1 23 3 +
HMFEE9 kozepes 21 2 26 3 +
HN7DBA elégséges 10 | 1 15 1 175 | 2 1 22| 2 +
HTAIAZ elégséges 23 | 3 13 1 14 1 20 2 +
HXJ4G5 elégséges 18 | 2 14 1 1175 2 +
I0OWUJI elégtelen 2 1 +
I4WARO elégtelen 16 | 1 20 2 7 1 10 1 11 1 +
IATIB] elégséges 23 | 3 11 1 1175 2 +
IEZATE kdzepes 16 | 1 [295] 4 24 | 3 +
IFSNRQ elégséges 11 1 24 3 175 2 +
IRTBLM | Nem teljesitette -
IWOWXD kdzepes 175 2 11.5] 1 15 1 28 4 +
IX7YQS kozepes 255| 3 23 | 3 +
IYASQF kozepes 24 3 9 1 27 3 +
IZQ8ON elégséges 25 | 3 19 | 2 +
J240VV kdzepes 145 1 [ 295] 4 175] 2 +
JG2IF] Nem teljesitette +
JJ785D elégséges 20 | 2 175 2 +
JKXGYO kozepes 19.5] 2 255] 3 +
JPKSOP elégtelen 9.5 1 +
JR2MA48 kdzepes 14 | 1 28 4 17.5( 2 +
K2ALOI | Nem teljesitette +
KD3YNI elégséges 19 | 2 22 | 2 +
KGVQIW elégtelen 21 2 7 1 13 1 +
KK6M85 elégtelen 26 | 3 15 | 1 8 1 +




KXAMVF kozepes 29 | 4 25 | 3 +
KYK49V elégséges 11 1 23 3 10 1 13 21 2 +
LOVLZR elégséges 11 11225 3 20 | 2 +
LC898Z jo 25| 3 32 | 4 +
LUD5H3 kdzepes 11 1 1245 3 14 | 1 15 26 3 +
LUUINY elégtelen 12 1 1225] 3 75| 1 16 +
LWIGGT | Nem teljesitette -
MHS9RQ elégtelen 14 | 1 +
NBS8KJIX jo 29 | 4 26 | 3 +
NDEYDV kozepes 26 3 19.5| 2 +
NEYGD5 elégséges 24 3 20 | 2 +
NLCOTN elégséges 20 | 2 22 | 2 +
NQEOE5 elégtelen 8 1 14 | 1 +
02KUND| Nem teljesitette +
PIUGFC elégséges 26 | 3 14 1 117.5 +
PVG4M4 elégtelen 14 1 119.5] 2 3 1 8 10 1 +
QO5FFU elégtelen 275 4 +
Q6VLKH elégséges 22 | 2 2 1 7 21 2 +
QKUEKP elégséges 26.5| 3 175 2 +
QM2MVV kozepes 26 3 245 3 +
QUL13X kozepes 28 | 4 175 2 +
R28ALH elégtelen 12.5] 1 4 1 5 1 12 +
R780S4 elégtelen 26 | 3 13 | 1 16 +
RWADS8X] Nem teljesitette +
S5MYS?7 kdzepes 28 | 4 225 3 +
SAN70K kozepes 31 4 23 3 +
SG4QQO0 elégtelen 9 1 1135] 1 9 1 +
SJLULH jo 32.5| 5 24 | 3 +
SPO8FY | Nem teljesitette +
TOI2UK kozepes 2451 3 21 2 +
T5SK7A elégtelen 151 1 1175] 2 8 1 +
TDI4OF kozepes 18 | 2 15 ] 1 [ 10.5 27 3 +
TKVX8Q elégséges 21 2 6 1 9 23 3 +
TW22HY elégséges 19 17.5| 2 +
UIB884 jo 34| 5 235 3 +
V51191 elégséges 9 1 21 2 13 1 19 +
V58HHD elégséges 18 | 2 18 +
V5RP6N kozepes 11 1 26 3 19 | 2 +
VOTDS3 kozepes 28.5| 4 22 | 2 +
WOS5HTP| Nem teljesitette +
W9UC5M| jo 31 4 10 | 1 24 +
WBXLYW| elégséges 175 2 16 1 16 27 3 +
WC229G| Nem teljesitette +
WFVBVO elégtelen 20.5| 2 3 1 3 +
WG9LWH kozepes 19 | 2 27 | 3 +
WIRAO3 elégséges 18.5] 2 20 | 2 +
X1JWRE elégséges 23 3 175 2 +
XBOXK?7 elégséges 24 | 3 14 1 19 +
XBUGEG6 kozepes 27 | 3 17 1 11 19 2 +
XCR6DS | Nem teljesitette +
XTHIIT elégséges 175 2 11 1 20 +
XWQRPP kozepes 31 4 13.5] 1 14 175 | 2 +
Y93Y79 elégtelen 13 [ 1 +
YAVS8OK elégtelen 9 1 16 1 13 1 +
YNULSC kdzepes 8 1 24 3 275 4 +
YRFFDY | Nem teljesitette +
YTODVO elégséges 22 | 2 21 2 +
Z4K59D kozepes 26 3 23 3 +
ZACKN3 elégséges 225| 3 15 1 18 2 +
ZEFSPM elégséges 19 | 2 15.5] 1 23 +
ZLOE4K elégséges 18 | 2 9 1 22 +




